il 18U/92/29 230~

l'otal No. of Printed Pages : 32

Question Booklet No.

CFo b tilled v by tne caondidate bie Dluedilack pall-point pen)

e S ey R - -

ol No. i__L__[___ | | | | | ’[

.-
toll No. (Write the digits in words) ................, &q Yol TR o
erial No. of OMR Answer Sheet ... PRI,

f

‘entre Code No. | | !

b —— g e — - -

day and Date..........ocoeniisinnnrins (Signature of Invigilator)

INSTRUCTIONS TO CANDIDATES
(L se only blue /black ball-point pen in the space above and on both sides of the Answer Sheet)
L Within 30 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that it

mm—

tresh Question Booklet,
Do not bring any loose pap
A separate OMR Answengg
not be provided. Only the |
Write all entries by blue
. On the front page of
provided at the top, and

No overwriling is allowed in the entries of Roll No., Question Booklet No. and Set No. (if anv) on
OAMR Answer Sheet and Roll No. and OMR Answer Sheel No. on the Question Booklet.

. Anv change in the atoresaid entries is to be verified by the invigilalor, otherwise it will be taken as
unlair means.
Each question in this Booklel is followed by four alternative answors. For cach question, wou are to
revard the correct option on the Ansieer Sheet by darkening the appropriate circle i the corresponding row
ol the Answer Sheel, bv pen as mentioned in the guidelines given on the first page of the OMR
Answer Sheel.
For cach question, darken only one ¢ircle on the OMR Answer Sheet. It you darken more than one
circle or darken a circle partially, the ansswer will be treated as incorrect.

0. Note thaf the answer ouce filled i ink cannot be chiauged. 16 you do not wish to altempt a question, leave
all the circles in the corresponding row blank (such gquestion will be awarded zero mark).

1. For rough work, use the inner back page of the title cover and the blank page al the end ol this
Booklet.

2. On completion of the Test, the candidate must handover the OMR Answer Sheet lo the
Invigilator in the examination room/hall. However, candidates are allowed to take away Test
Booklet and copy of OMR Answer Shect with them.

3 andidates are not permitied 1o leave the Examination Hall until the end of the Test

Lo oo candidate altempls to use any torm oi unfair means, he/she shall be liable to such punishment as

»ye Lniversity mav determine and impose on him/Zher.

(Guiw frde fall & srfFay amEReT-go w3 T € )

collegedunia:

India’s largest Student Review Platform




FOR ROUGH WORK / X% @14 9 1VIN

[ ]
gcollegedunlaa
India’s largest Student Review Platform

—



18U/92/29(Set-1)

No. of Questions : 100 -
= Y T ;100

Time : 2% Hours | [ Full Marks : 300
7HY : 2V HE ] [ goifE: 300

Note: (1) This question booklet contains 100 (hundred) questions in all (30 in
Section - A and 70 in Section - B). Attempt as many questions as you can.
Fach question carries 3 (three) marks. One mark will be deducted for each
incarrect answer. Zero mark will be awarded for each unattempied

auestion,

g wei-yfRdeT F w100 (W) 999 € (@8 ~ F 7 30 9 @US — q A 70}
FReRE 7 @ T B B WG DI ghd 499 3 (fF) S @ 8
yF ToId IOV P [0 UF AF 1T TR TS AR W &I AT

Y B

(2) If more than one alternative answers seem (o be approximate to the

correct answer, choose the closest one.

afe veifed d@fous IR W IR @ PAde w2 @ Fdcds el
g |

(3) I I 5
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18U/92/29(Set-1)

1

-

V. NEewewmyy N

" g — &

Who plays most important role in the growth of a student ?

(1) Principal (2) Guardian

(3) School manager (4) Teacher

ve ol & s § #9 aad eyl forder B & 2
(1) wEn=rard (2) HfPmED

(3) e yews (4) et

Teaching .ﬁptitude means :

(1) devotion towards teaching work

(2) The desire to become a teacher

(3) The requisite professional abilities to do the job of a teacher

(4) None of the above

fweqor arfermar @1 a9 2 -

(1) Rremr o & ufy famr

(2) & Rerd 77 o T

(3) va R @ w ad ¢l didue daugy sman
(4) SH@ § W B T

An effective teacher is he who :

(1) has control over the class.

(2) can deliver more information in limited period.
(3) inspires students how to learn.

(4) carefully checks the home assignment.

U& STl s 98 8 W

(1) ®er ux Rz vEar g1

(2) 9 GHY ¥ IJE I T FEAl 2|

(3) Rl &1 s W w3 g6 fow ORa awar 1
(4) T8 B P GWaAYEHYdd Higar 2|

(4)
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18U/92/29(Set-1)

A child from a disorganized home will experience the greatest difficulty with .

(1) Well structured lessons (2) Independent study
(3) Programmed instruction (4) Short answer tests
Uh sinfed aRar &1 q=n waw sifde send arpra w

(1) YeraRea mal | (2) WIS JeTIE A
(3) AT e ® (4) TAYSTRT qequ #

The main purpose of teaching 1s :

(1) development of reasoning power (2} development of thinking power

(3) Both (1) and (2) (4) giving information only
foetv) &1 W el ®

(1) afés ofda &1 R e (2) foaw ofda & e we
(3) 3 (1) 3R (2) (4) WIS PaT T

In a teacher dominated classroom, students usually become :

(1) Active learners (2) Passive learners

(3) Competent learners (4) Self dependant learners
TE EAUH s /0 e 8 el urm gq wm ©

(1) vfba s (2) Fispa sfemydal

(3) @& el (4) @R sfdrraear

An effective method of learning a language is :
(1) Reading

(2) Listening

(3) Writing

(4) Reading, Listening, Writing and Speaking
e PEH A Ve gareee: fafe #

(1) &I

(2) g7

(3) foreg=1

(4) T, g, R SR dTe

(5) P.T.O.

collegedunia
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18U/92/29(Set-1)

8. Values are not taught but caught, then how to inculcate values amuong future
citizens ?
(1) Through teaching
(2) Through guidance and counselling
(3) Through strict discipline
(4) By following values
Al @ Rvamn et i qev a1 o €, o Wi aniad ¥ gel @ few e
fosor o7 wwar & 2
(1) fmerr g
(2) fAdvH iR wme g
(3) FOR FFIHT G
(4) TSI & FAIST R

9. Insetting a question paper you will pay more attention on -
(1) Content
(2} Distribution of questions
{3} Construction of questions
(4) Duration of question paper
Tk WETA $T AHI G TEG A 4 S
(1) Rz o =
(2) wEA & fdavu i)
(3) =i & Ao ®
(4) T¥TF B HdH W

10. Effective teacher is he/she:
(1) Whao has control over the class
(2) Who can deliver more information in limiled period
(3) Who inspires students 'how to learn’

(4) Who carefully checks the home assignment

(6)
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18U/92/29(Set-1)

{ Wit arams g8 2 -

(1) Faas wey gy s g 2|

(2) < W g § s o=t 2 Thar ¥

(3) o fdenfit @ by drar i gwd (G2 aRa wvar 2
(4) T TR B B HauEgds e 2 |

1f yellow is called blue, blue is called red, red is called pink, pink is called black
and black is called orange, then what is the colour of blood 2

(1} yellow (2) pink

(3) blue (4) orange

afe G B Ao el WAl 8, A P A BE| Il 8, A B [erdl Fw A €,
gm@ﬁaﬂafmm%ammzrﬁmﬁmw%, dl ¥l B T P
&2

(1) e (2) “eidt

(3) Aleti (4) =

In a certamn code language 'CA1" 1s wrnitten as 'DDY". How will 'BIG' be written
in that code ?

(1) CML (2) CJL (3) CLL (4) CNL
v Pifaa |isim A § 'CAT @1 'DDY' foman wmar & | S wiafas w (3re)
A BIG &1 b9 ferar s 7

(1) CML () CJL (3) CLL (4) CNL

Clock : Time : : Thermometer : ?

(1) Heat (2) Radiation
(3) Energy (4) Temperature
o) ; AW :: YUAMICY ;7
(1) S (2) fafbeor
(3) Tl (4) @
(7) P.T.O.
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18U/92/29(Set-1)

14. Gun: Bullet: : Chimney :?
(1) Ground (2) Smoke

(3} House (4) Roof

T (@) : goie ¢ fan 2
(1) s (2) gaif

(3) @7 (4) =

15. Find the value of question marks (?) :

CZEX LV, TQ%?

() OP (2) PQ
(3) RR (4) SR
yeAdrad sl & A 9asy

C-Z.B, X LV.L: T, %1

(1) OP (2) PQ
(3) RR (4) SR

16. Choose the correct alternative -

LAS 16, 25, i)

(1) 35 (2) 36 (3) 48 (4) 1Y
adt fwer g

R B06 25, B )

(1) 35 (2) 36 (3) 48 (4) 49

17.  Aruna ranks twelfth in a class of fortysix. What will be her rank from the fast 2

(1) 23 (2) 34 (3) 35 (4) 37
arerry (el ot wen F sreen &1 A 12 ) Aif T Swa @ s B 0
(1) 23 (2) 34 (3) 35 (1) 37

(8)
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19.

20.

21.

22.

18U/92/29(Set-1)

If Raman is ta the South of Shyam and Mohan is Lo the Fast of Shvam, then In
which direction is Raman with respect to Mohan ?

(1) North-East (2) North-West  (3) South-East (4) South-West
= T v @ TR A R Sl Aed WA @ (@ R a1 9 mEe & o 16w
femd &7

() I=e-yd (2) Sur-yiFaH (3) aiéror-ga (1) wido-uf¥=m

There are six persons A, B, C, 1D, E and F. C is the sister of F. B is the brother of
F's husband. D is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group. Then answer question 19 and 20 :

m 7fd A B CDEIMRFEIC FHRTETRIBED U @ g 21D, AF

R & 3R F &1 grer &1 wog § =7 foan, = +1id ofR U6 o1 &1 O 999 19 Td 20
F IR S

Who s the mother ?

1y A (2) B (3) D 4 E
IR N A I

(1) A (2) B 3) D () E

Who s E's husband ?

(1) B (2) C (3) A (4) F
E®l ufd &F & ?

@ @ C (3) A (4) F

In which year Mahamana Malaviya was awarded Bharat Ratna ?

(1) 2014 (2) 2015 (3) 2016 (4) 2017
HeT ATEda B e o A o Rar Y

(1) 2014 (2) 2015 (3) 2016 (4) 2017

Who is related to 125th year of Chicago Addresses ?

(1) Swami Dayanand (2) Swami Vivekanand
(3) Swami Yu;;anand (4) Swami Ramtirth
Breit @l @ 12549 a6 § FiF dafea & 7
(1) @HA gUI =< - (2) W fAaETT=
(3) @ AN (4) T et
| (9) P.T.O.
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18U/92/29(Set-1)

23.

24.

25.

26.

Operation Indradhanush is related to :

(1) Immunization (2) LPG

(3) Poverty elimination (4) Banking
STReI vy Ry wafoa 8 7

(1) s (2) Telo Wo il
(3) TR P (4)

Which project is related to computer literacy ?

(1) CAI (2) CLASS

(3) WINDOW (4) CPU

aE- gRara @ weRar § wafeg 8 ?

(1) Hiogoamdo (2) MoTHoToTHOTED
(3) fa=s (4) Hofomo

Which is recently launched online learning portal by MHRD in India ?

(1) SIWAYAM (2) ABHIYAN

(3) VARSHA (4) MOOCS

WG W GHoTHodRodo ERT &1 # & $1H-WT sifvengs sy didw % fhar
29

(1) =M (2) afu

(3) am (4) 5w

When NCTE was established as a statutory I.‘ind}’ in India ?

(1) 1992 (2) 1993 (3) 1994

ART A TH FaNE e @ v # godlodogo @ e &9 g ?

(1) 1992 (2) 1993 (3) 1994
(10)

) 1993

(4) 1995

—
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18U/92/29(Set-1)

27. Which one of the following bodies is responsible for assessment and

accreditation of Universities ?

(1) UGC (2) NAAC

(3) MHRD (4) NCERT
NuaRaicldl & el Ud Yedidd B IF-81 NHE Sorer @ 2
(1) Jouflodlo (2) THoTeloiilo

(3) THOTTOHROSI0 (4) TlologoamRotie

28. PMMMNMTT was launched in:

(1) December, 2014 (2) February, 2015
(3) January, 2016 (4) July, 2015
HloTHoUHoTHoTFoYHoEI0TI0 B! FOIAT E‘sf :

(1) Ry, 2014 (2) @¥ax, 2015
(3) &=, 2016 (4) @, 2015

29. Madan Mohan Malviya University of technology is situated in :

(1) Varanasi (2) Kanpur
(3) Gorakhpur (4) Allahabad
e Hge A stenf Reafaerer e @

(1) T o (2) HFER
(3) TREYR A (4) geEEE #

30. Who was the first Vice-chancellor of Banaras Hindu University ?

(1) Shree P.S. Swamy Iyer (2) Pandit Madan Mohan Malviva
(3) Sir Sunder Lal (4) Dr. Sarvpalli Radhakrishnan
e g Reafierey @ uem aigd TR &1 4 7
(1) = g0 THo @M JTR (2) ufdST HEA HiEgd d1ddd
(3) & {=<R A (4) Sfo HdUcell TG
(11) P.T.O.

collegedunia.
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18U/92/29(Set-1)

31.

32.

33.

SECTION -B
Wvg — §q

If G, M and R represent the gravitational constant, the earth's mass and carth's

radius respectively, then the escape velocity is given by :

IR G, M 3R R #9% Toaiady Raais, yadt ) aefy o yedt @) fFvar weffa
&, dl geir e B oaE g

IGM M
1 4= oM
(1) \! R (2 2R

2GM GM

coniain (4 :af-_
G) R al VR

Which of the following was unified by Maxwell ?

(1) Electricity and Magnetism (2) Electromagnetism & Gravitation
(3) Electromagnetism & Weak force (4) Eleciricit}' & Sound

Feafefaa # @ dmmae gr e v fra a2

(1) Rya vd gras (2) Rem-gase (d Toamin

(3) fge-gas@ 0T 3o e (4) 1H97a g Wiy

The density of a solid of welght Was 'd', if this <olid is immoersed in a ltquid of
density p then the apparent weight of the solid will be :
Wm?zrmqmaﬁﬁmmd%:uﬁsﬂa’mﬁpmmﬁﬁﬁ:ﬁﬁmm
O 9@ [Qared wr 8

\ . / 4

M W=w1-2] @ W=Wwli- ”
\ood) i

o WI=W{HEJ (4) W=w 1+f|t

¢ . P

(12)

collegedunias
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35.

36.

18U/02/29(Set-1)

The momen of inertia of a circular disc of radius R and mass M about an axis
Perpendicular to the disc at the centre is :

R gl 03 M @2 ardl) (@ gaer R @1 sem amgef 99 @ @ de€ad
&7 @ Al g o w Frfefa gar 8

2
(1) MR’ i 2F-
() Mf' (1) 2 MR?

Which of the following is a non-conservative force ?
(1) Gravitational force (2) Frictional force

(3} Spring furce (4) Electrica] fﬂrCL‘
frrafefiag & @ -ar R wlead) 9d 2 7

(1) @Y qel (2) T4V aF
(3) fay=r @& (4) fae o=

Elastic behaviour of a solid depends on :

{1} Interatomic forces

(2) Medium surrounding the solid

(3) Temperature of the solid

(4) Surface of the solid

A A @ argeR @der frafeaiim w e @ g
(1) IUS GAVR @ 4| @ & W

(2) SN @ TRI AR B FETH W

(3) SrF @ TTTPH W

(4) 219 & € W

(13) P.T.O.

collegedunia
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b, 3

38.

39.

T efficiency of a Carnot engine working between temperature Ty and 1 with

Ly > T, is given by :
[, @ 7, aasn @ @9 we® A6 eFe gom @) gaar el & 3
I'y>T,.

{ Ty =Ts

(H = ) L—=
7 ( T

1,-T, I, -1,

3y —= gy 2L T2

) T (h) - R

A soutree emilling transverse waves is moving away from a stationary diserver
with uniform velocity o. If the wavelength of the wave is 7, and its velocity ¢ is

greater than v then the wavelength measured by the observer will be -

(1) ;‘L=}hﬂ[1—£‘:) (2) },.Z;‘hﬁ(ln-il
LS C )
':?'.] = }...J i] -‘—l} (4) 2= Ay [-] - E-\:

FIIRY AT IeaA B Al W U Rer e @ wwe afd o @ g o e 2
afe T B M ¢, 0 G IRFE T qen woeed 4, B A W TR e e

El?”lﬁ‘ﬁi;ﬂm:

(1) 2=0y1-2) e)1=afliﬂ}
it = \ ¥

gy & oo Ta A

=iy l__) (4) ﬁ.:;,“|]+71

.‘ & \ o'

The radiation emitted by a blackbody source gives rise (o fullnwin;,; Spectrum ;

(1) Continuous spectrum (2) Band spectrum
(3) Line spectrum (4) Raman spectrum
U HISTET W W goafora fAfewe s geR & wWeen g 2o
(1) Wag oy (2) d¥ WagH
(3) ©iTgT A (4) I WagH

(14)

1 E
collegedunia
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40. Photo electric effect was experimentally verified by :

(1) R.S. Muiliken (2) A.H.Compton
(3) |.]. Thomson @) R.A. Millikan
oTe-faee waTE W YIRS geay (Efaied R fear
(1) 3o T Gferm (2) To Tdo HTEH
(3) Slo We MU (4) 3Ro Qo fAfera+

41. Fraunhofer lines are observed in the following :

(1) Hvdrogen spectrum (2) Molecular spectrum
(3) Solar spectrum (4) Atomic spectrum
FHFETHL Y@ Frefiaa F 3 o €

(1) SEFSE T (2) mifds waew

(3) WIR WA (4) TREY W

42. The colour of light from a light emitting diode depends on :

(1) Atoms of the semiconductor (2) Molecules of the semiconductor
(3) Surface of the semiconductor (4) Band gap of the semiconductor
yHIYl Ieduid S8 ¥ fwme yarer &1 1 frefofed o iR g 8
(1) 3elaredsd & T=RAW] (2) EfETEd @ Y|
(3) IeraTeTd Bl e (4) IfaTadd BT Foll I
43. Inrelation to Indian industries enterpreneurship is :
(1) Necessary (2) Unnecessary
(3) Burden (4) Wastage of time and monev
WA FEET B wEy § IufEd €
(1) FaTd (2) 3fATIS
(3) MR (1) TFI Td 51 B agd)
(15) P.TO

collegedunia
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44,

45.

46.

47.

According to Sociological approach enterprencurship is
(1) Process of sensivity (2) Process of role performance
{3) Process of Economic change () Process of habits

arEfores SuTeEr @ s dufdar g

(1) rgar @ gt (2) 4f®1 FiwgeT @ afd
(3) anferE uftads & ufdpar (4) ared @ ufkm

Keratomalacia discasc is caused by deficiency of
(1) Vitamin A (2) Vitamin C
(3) Fat (+) Vitamin B
GREIHARN THE U FEd) B & FRo Er &

(1) faafa A (2) fefim C
(3) g (4) faesa B

Dental Florosis diseases is caused due to :
(1) 3-5 ppm florine in water (2) (-12 ppm florine in waler
(3) 0-2 ppm florine in water (4) 1-2 ppm florine in water

ged U A &1 R €

(1) 3-5 Qs Fardls o (2) 0-12 diny 4= T 7
(3) 0-2 9NH TN W H (4) 1-2 4I90H g@RE WJer §

Minimum of which is present in fruits :
(1) Protein (2) Carbohydrales
(3) Vitamins (4) Minerals

WA W A HIAT § a9 oy 8 7

{1y widH (2) dlalEIEgeH
(3) fefawg (4) e
(16)

—
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48.

49.

30.

51.

18U/92/29(Set-1)

Which protein is found in rice ?

(1) Argenin (2) Zein

(3) Glutenin (4) Albumin
aqdet § B ME= B & 2

(1) SRS (2) 9=

3) et (4) e
Process of change of unsaturated fats into saturated fat is :
(1) Saponification (2) Hydrogenation
(3) Oxidation (4) Emulsification
i adt sl @) T T ot ¥ Twer A b & -
(1) a0y (2) ETZSITTHIGII
(3) STRAHT (4) wriEd

Nylon fabric is made of which process ?

(1) Phvsical method (2) Chemical method
i3) Mined method (4) Local process
A & T 6w Al g1 R 6 o @ °
(1) #ifas faf (2) watye e
(3) fafda faR (4) =0 R
[s a plastic fibre :
(1) Nylon (2) Rayon
(3) Orlon (4) Wool
UH e d 9N HA-A1 8 7
(1) e (2)
(3} HHATH (4) &
(17) P.TO.
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52.

53.

54.

9%.

FI'O 1s to prevent

(1) Adultration (2) Purity

(3) Wrong weights (4) Wrong labelling
THolodlio IHUH EYAl T

(1) e & (2) Y&

(3) T AArA i (4) T SEfAT @

Which is necessary in colour ?

(1) Balance (2) Harmony
(3) Goal or Aim {(4) Proportion
N @ WA A E HI9E 8 2

(1) Wy (2) JTmur
(3) d&x (4) oA

The number of molecules decomposed on absorption of per photon of UN-Vis

light is called

(1) vield of the reaction (2) quantum yield
(3) quantum efficiencv (4) quantum productivity

Aegl argee faere warer @ 3 w1 @ Imumer W oamra s @ e A
GRS IGL f—-’ 8

(1) arfafba &) urfly (2) @aven wifid
(3) FaTUes QETar (4) FHTUEH ITUTGE]

[ 's" is the solubility of CaF,, the solubility product (Ky) would be expressed

ds .

(1) Kg=8 2) Kgp=¢ (3) Kip = s () Ki=d
af? 's' CaF, @\ facmar & a1 RAdwar sae (K., & ara s

(1) Kyp=5¢° (2) K=< (3) Ky =48 (4) Ky =4¢

(18)

i E
collegedunia
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18U/92/29(Set-1)

56. An l‘mlllﬁiﬁer functions to:

57.

58.

39.

(1) coagulate a colloidal solution

(2) slabilice a sol

(3) stabilise an emulsion

(4) electrify a colloidal solution
STt BT HYET €

(1) #feim fRers &) Wwha o @ frg
(M) g &1 o) v @ fav

() T el A @ g

(4) @ferdr foama @1 fgmn s @ fog

For one component system the phase rule is :

(1) F=3-P (2) F=2-P
(3) FF=1~P (4) F=4-P
16 HUTH Gl o den g

(1) F=3-P (2) F=2-P
(3) F=1-P (4) F=4-P

A+ H, 50, -» B (a colourless gas with irritating smell), B + H, SO, + K, Cr, O-
—» green solution, A and B are :

(1) SO;™, SO, (2) CI~, HCl

(3) §*, H.S (4) o, co,

A + H, SO, - B (y&18 T & W1 Yh W8N ), B + H, SO, + K, Cr, O, - &
Joza, A WG BE :

(1) SO% .50, (2) CI-, HCI

(3) §°7, H,S (4) €05, CO,

Which of the following is not a nucleophile ?

(1) OH" (2) CN- (3) BF, (4) NH,
(1) GH (2) CN- (3) Bi, (4) NH,
(19) P.T.O.

collegedunia
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18U/92/29(Set-1)

60. Which of the following doces not react with ammonical A¢NU , bul decoinurises
bromine water ?

(1) C.H, (2) CsH, () C.ll, (4) C,H,

= @ BT @SRRI AgNO, B e afafem T B E i w0
A B WA Bl B 7

(1) GH, (2) CyH, (3) il (4) C.H,

61. Benzene i« converted into toluene by

(1) Grignard reagent (2) Perkin reaction
i5) Friedel-Crafl's reaction (1) Wurlz reaction
dofla w erqes J uRafda fEar war @

(1) B sfasds gr (2) ufther ssfear gro
(3) Prea-hITcH Jafh g (4) gew st g

62. Which one of the following reagents is used to differentiate chlorobenzene from
benzyl chloride ?

(1) Br.in H.O (2) Alcoholic AgNO,
(3) Br.in CCl, (4) KMnO,

B A g afMads & 90 FaRaed @ dulld elliEE € Ha bl @ o
o e 2 7

(1) H,OH Br, (2) areniefoid AgNO,
(3) CCl,# Br, (4) KMnO,

63. Which of the following has ~O-O- linkage ?

(1) H,5,0, (2) H.S,0,

(3) H,5,0, (4) 14,8,0,

fpa i @ fped -0-0-du 2 7

(1) H,8,0, (2) 1,5,0,

(3) H,S,0, 4) H.$,0,
(20)
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64. Both INIC,Y" and [Ni(CN),J* are diamagnetic. The hybridisation of Ni in
thEb‘t' C{Jmplexes respECtiwl}-' are |

(1) sp’, sp® (2) sp’, dsp?
(3) dsp’, sp’ (4) dsp*, dsp®
[NW(CI),I™ Ta [Ni(CNY, I~ < sf-gaaYa ¥ | e wiadl & Ni &7 GET F9 2
(1) sp’, sp’ (2) sp’, dsp®
(3) dsp’, sp® (4) dsp®, dsp’
65. The species in which the central atom uses sp*-hybridised orbitals in its bonding
1S .
(1) CH; (2) NH, (3) PH, (4) SbH,

TR Dol YA H sp bR BEHIY B UL §9 J9H H 2T 2
(1) CH; (2) NH, (3) PH, (4) ShH,

66. 'Power-House' of cell is -

(1) Nucleus (2) Endoplasmic reticulum
(3) Mitochondria (4) Golgi Complex
DRNEH F Tt Y

(1) &= (2) goeTenfws-fedem
(3) wgCIBIga (4) Tl Bivera

67. Whichis an anneiid ?

(1) Ant (2) Crab
(3) Nereis (4) Octlopus
Rytfafae 4 ofiferet a1 o &
(1) 9 2) D!
(3) R (4) sitaerra
(21) P

unia:
f-.:;g lIa!!gi %iﬂwiew Platfo rrr;
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©8. Which phylum has highest number of species ?

69.

70.

71.

(1) Protozoa (2) Porifera
(3} Arthropoda (4) Mollusca
R o o wER wweT gonfy o o E

(1) WIEral (2) MRw
(3) aiferraiar (4) Hiclad!

Amoebic dysentery is caused by :

(1) Plasmodium vivax (2)
(3) Amocba proteus (4)
i) ey Fud g g ¥ Y

(1) GHoAIfead agamT (2)
(3) srftar mifeva (4)

Pearl is produced by :

(1} Oyster (2)
(3) Doris (4)
a5 g B

(1) siawey o (2)
(3) SRTH (4)

Pipe-Fish' is the common name of :

(1) Syngnathus (2)
(3) Anabas (4)
T A B G wafad A E

(1) Rryrera (2)
(3) A& (4)

(22)

Entamorba lustolytica

Taenia solium

SUCH diar Deifefcar
fe<tar wifeiag

Nautilus

Chiton

Ar3fcad 4
FIgcr 4

Hippocampus

Remora

RErT

collegedunia
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73.

74,

75.

18U/92/29(Set-1)

'Neoten}" refers to :

(1) Retunt 1on of rud:’mentar}’ organs

(2) Retention of larval characters in adults
(%) Metamorphosis

(4) Moulting

(1) #ifed 3 & @Ry

(2) Tuwsl § |l & O & HARYT |

(3) EY=RY g
(4) Hget Frmer 2
Heart in crocodiles is :
(1) Incompletely 4-chambered (2) Completely 4-chambered
(3) 3-chambered (4) 2-chambered
TREES B ged 3 B 8 ?
(1) 3 4 g (2) qof 4 yors
(3) 3 waTs (4) 2 TP
Which of the following is the characteristic of bird's eye ?
(I) Lens (2) Retina (3) Pecten (4) Ins
F¥ 7 -8 a8t @ ot o fetear & 7
(1) == (2) XS (3) "aH (4) smsfs
The toothless gap due to the absence of canines is known as -
(1) Epiglottis (2) Glottis
(3) Diastemma (4) Cheek
TETH B B FURAR B IRU B ATt R @ FE orar
(1) wdrenfes (2) "enfew
(3) BraweH (4) FuTE
(23) P.T.O.
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76. Fertilization in mammals occurs in the :

(I) Vagina (2) Uterus
(3) Fallopian tubes (4) Ovary
e A Ades g @
(1) afx 4 (2) fery A
(3) fomrmfeh 4 () e ¥
77. In which of the following National Parks Indian rhino 1s conserved ?
(1) Corbett National Park (2) Kaziranga National Park
(3) Manas Santuary (4) Kaimur Santuary
W ¥ fra Indry g | wefea kg T 8 ?
(1) @rde g 9@ (2) AT I TS
(3) ATE ER (4) DISRT G

78. Haploid endosperm is found in :

(1) Pteridophytes (2) Gymnosperms

(3) Monocots (4) Dicots

T Yoy GiEr SR €

(1) cRewpEey A (2) aFTgadrel i

(3) TSI A (4) fadoma #
79. Phvcobiliproteins are present in members of :

(1) Chlorophyta (2) Cyanophyta

(3) Phaeophyta (4) Dinophyta

HEFIRAUE s el # ural odl @

(1) #RIHTE (2) WEAWwEe

(3) faTmTEET (4) STEAHET

(24)

collegedunia
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81.

82.

83.

18U/92/29(Set-1)

Which of the following fruiting bodies in Ascomycotina is lacking an opening, ?
(1} Hysterothecium (2) Apothecium

(3) Perithecium (4) Cleistothecium

TEEEIeT § 1 3 & - e g § 78 g @ 7

(1) ey (2) worfys

(3) TR (4) ety

A cvanobacterium (blue-green alga) forms symbiosis with a plant which is used
as biofertilizer, the plant is :

(1) Hydrilla - (2) Salvinia

(3) Azolla (4) Nelumbo

wﬁ#@ﬁm(ﬁmﬁﬁam)m&$wmm%mﬁmﬁwm
TEE B w9 A B oy € dhen 2

(1) srgfgar (2) wehfrar
(3) goren (4) rera)
Peduncle is a stalk of :

(1) Leaf (2) Flower
{3) Inflorescence (4) Fruit
J9g Ud Sod & :

(1) gt F1 (2) W @I
(3) 9T @1 (4) B D1

In Pteridophytes, stele without pith is known as :

(I) Dictyostele (2) Siphonostele
(3) Solenostele (4) Protostele
éﬁmmﬁwﬁmmmmmwﬁ
(1) el & %y 9 (2) WERHHRSE & wY A
(3) WAIREH & w9 o (4) Ml ® wU 7
(25) PY.0.
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84,

85.

86.

Archegonia are found in :

(1) Fungi and Bryophytes

(2) Bryophytes and Pteridophytes

(3) Bryophytes, Pteridophytes and Gymnosperms
(4) Pteridophyles, Gymnosperms and Angiosperms
anferf=ar urm Sl 2

(1) Ta@ ad1 FABESA o

() aRieTged aur SHSTHEeH ¥

(3) @idTpIged, SHSIpIFCH qUl FTgAdIe A

(1) 2demEes, eguEeh qur SR T

New name of family graminae is

(1) Asteraceae (2) Apocynaceae
(3) Lamiaceae (4) Poaceae

T °rE @l F91 M 8

(1) Q! (2) VORI
(3) fFasd (4) DA

Type of Coffee fruit is known as :

(1) Berry (2) Pome

(3) Cypsella (4) Nut

FTE B H YHR AT G 8

(3) fawen (1) e

(26)

collegedunia

—



18U/92/29(Set-1)

87. Oxygen evolves in plant photosynthesis during :
(1) Photosvstem 1
(2) Photosystern I
(3) Both Photosystem I and Photosystem IT
(4) Photorespiration
(1) 514 FEia |
(2) W ugha Il
(3) e ygfd 1 vd g9 ugha 11 g

(4) Ul dHA

88. Plants are categorised on the basis of day length required for flowering, as per
this Sugarcane is a :

(1) Long day plant (2) Short day plant

(3) Day neutral plant (4) Night neutral plant

ol B QU B S i @ e & sMR W affen few o & e
@@W?W?Tﬁz

(1) @1 e e (2) ®ier 29 dren

(3) fa= dewr den (4) g Fever diar

89. Nullisomic aneuploids are represented by :
TerE TToge @ el far wmer @

(1) 2n-1 (2) 2n-1-1 (3) 2n-2 (4) 2n+2

90. The operator &é& is which type of operator ?

(1) Assignment (2) Increment (3) Logical (4) Relational
ey '&& Frfefaa 4 9 59 goR &1 8 2
(1) 3r@E-HE (2) g=wnie (3) <iffSrpa (1) RewFe

(27 ) P.T.0.
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91.

92.

What will be the output of following source code ?
void main()

!

int a=15,b=25,c=34;

c=a+b;

b=c-b;

a=Cc-b;

printf(""ed %d %d",ab,c);

}

(1) 152843 (2) 281543 (3) 152834
Arfrfdgd wRnw BT ATSeye aur B Y

void main()

!
i

int a=15b=28,c=34;

c=a + b;

b=c-b;

a=c-Db;

printf("%d %d %d",a,b,c);

!

(1) 152843 (2) 281543 (3) 152834

(4) 281534

(4) 281534

Karnaugh map (K-map) technique provides a systematic method for

simplifyving :

(1) Multiplexers (2) Logic gates

(3} Boolean expressions (4) DeMultiplexer

K- aads refefd 8 © &9 wve &9 B Falod ader & 7

(1) WedrFar () difsa dea
(3) gelad Y (4) S-AIFRR

(28)
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9 . e . : - :
< R logic gates has four mputs, then total number of possible input

94.

95.

combinations s -

(1) (2) § (3) 32 (4) 16
w&wﬁ%ﬁmﬂtmwg.mwwﬁmaﬁqﬁﬂmwmﬁ?
(1 (2) 8 {3) A2 (d) 14

We have to build a memory capacity of 2048 bytes using 128x8 RAM chips.
"';["rt‘-;"!'l'-}' the size of decoder o select a RA Y| Chip N memory

(1) 3x3 (2) 4x16
() 2 (4) 5x32

#5128 x 8 RAM U &1 wain vd §Q Ua 2048 15T &mal & 398 e &
A 0 RAM Rru 1w we & 2o fRersy &1 wigs @r &y 0

bl) 3‘;?\1 2) ‘;*16
(3) 2x4 (4) 5x32

Which ol the fulluwing 1S 4 Mmain memory ?

(1) Secondary memory (2) Auxiliary memory
(3) Cache memory (4) Virtual memory
RN 8 ® @i e B REEE g 0
(1) &= (2) weTEE A
(3) &9 #HR (4) Tdo FERY
Which memory device is generallv made of semi-conductors ?
(1) RAM (2) Hard-disk
(3) Floppy disk (4) CD disk
rfaRaa A -8 R i sduee | e & ard) @ 2
(1) ¥ (2) w18 v
(3) Feird feves (4) @ A o=

(29) P.T.O.

collegedunia

—



18U/92/29(Set-1)

97.

98.

99.

100.

Using Lagrange's formuia the value of x, when y = 13.5 will be :

(1) 98.14 (2) Y7.66
(3) 96.99 (4) 96.43
AR T BT WA BRG gY x @t 7 o, afy oy - 1359
(1) 98.14 (2) 97.66
(3) 96.99 (1) 9643

The minimum and maximum value of 7 cos 0 + 24 sin 0 will be :

(1) =5and +5 (2) —10and + 10
(3) —15and + 15 (4) -25and + 25
7 cos 0 + 24 sin 0 @ VA a sifermes 7 F=ferRad 7 | @ EnTy 7
(1) =5TAT+5 . (2) =107+ 10
(3) -15TUT+15 (4) - 252+ 25

Which of the following formula is most accurale for numerical in tegration !

(1) Simpson'’s rule (2) Trapezoidal rule

(3) Weddle's formula () Gauss's Quadrature tormula
Ayafofas § @ @i G TaN Siftid Uagee €, ~qRivee germee @ oy
(1) FmaE 33 (2) PUATEEA I

(3) de& (4) WA auigaR Ga

[f x and y be two real variables such that x = 0 and xv = [, then minimum valu

of x + y will be :
(1) 1/2 (2) 1 (3) 2 (4) 3

a2 x 3R 'y &) Ras ARTEA € x > 08U xy = 1, T4 x + v B AATE FH R
8l ?

(1) 1/2 (2) 1 (3) 2 (4) 3

(30)
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10.

11,

12.
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14.

st @ farg e

3 & @l gt e dad Al /A
(371 YRA®) B YoM JFEART-GE T A aoTHodRo TR-04 & il Yl Iy P el /i
o qic-ange B A 8 law)

e qRaar e @ 30 fde @ IR & <d § fp usms § ol g digE € O ilh"h;' ol

g T 2| gRae dNgH U W W T @l aebtd el [Adled Bl Cebd Ll N
$ qud) g G| B A |
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w o |
Ao UHo R0 WA TR N[HHG @MW, WeA-GfEE W 9 A2 el (if w1 @) oo uEL
e o% @He TR AR Jlo To 3Ro 43 W&T &) yfafteat A QuREAEH & Ian =0
gl .
gwpw ufafict § wg @ aRada e FE G THIG €l dif@d seur e YR e
T w1 EdiE A o
ye-gRadt A HAE AT 3 T dwiye e A A #1 gSte e B JEoTE S okt
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48) A1 e & & weatua ufdd @ wm R A el gdl G @rell Ble @ G E IS
F 23 |
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qaT PN |
ey & guwe anaeft affo THo Ao TTR-UAG U He/4gq H Fres Y smem v
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@1 gafa 21
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